
SUBARU
FORESTER

FORESTER  ( SF_ ) 01 / 1997  -  05 / 2002

-

-
-

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

11

10SU050010SU0500

FORESTER (SG_) 02 / 2002  -  11 / 2007

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

11

10SU050010SU0500

FORESTER (SH_) 01 / 2008  -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

11

10SU050010SU0500

FORESTER (SJ_) 03 / 2013  -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

11

10SU050010SU0500

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85



SUBARU
IMPREZA

-

-
-

-
-

11

10SU050010SU0500

IMPREZA Coupe (GFC) 08 / 1992  -  12 / 2000

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21067 GA050 

31310-GA152 

Ball Joint 

Axial Joint 

10SU0500 

20SU0500

20SU0500 20SU0500

11

10SU050010SU0500

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21067 GA050 

31310-GA152 

Ball Joint 

Axial Joint 

10SU0500 

20SU0500

20SU0500 20SU0500

IMPREZA Saloon (GD)
IMPREZA Estate (GG)

12 / 2000  - 06 / 2007

11

10SU050010SU0500

IMPREZA Hatchback (GP)  
IMPREZA Saloon (GJ)

07 / 2011 -->

IMPREZA Estate  
IMPREZA Hatchback (GR, GH, G3)  
IMPREZA Saloon (GR) 

10 / 2007  -  01 / 2014

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

11

10SU050010SU0500

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85 

th:MM14x1.5 RHT L:292mm 

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85 

th:MM14x1.5 RHT L:292mm 

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85



SUBARU
JUSTY

-

11

17SZ20 17SZ20

JUSTY II (JMA, MS) 
JUSTY Mk II (JMA, MS) 
 

10 / 1995  -  11 / 2003

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 48810 60B0017SZ20 Ball Joint c:Ø12,6 th:FM12x1,25 RHT

LEGACY

11

10SU050010SU0500

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21067 GA050 

31310-GA152 

Ball Joint 

Axial Joint 

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85 

th:MM14x1.5 RHT L:292mm 

10SU0500 

20SU0500

20SU0500 20SU0500

LEGACY I (BC)  
LEGACY I Estate (BC, BJF) 

01 / 1989  -  08 / 1994

11

10SU050010SU0500

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21067 GA050 

31310-GA152 

Ball Joint 

Axial Joint 

10SU0500 

20SU0500

20SU0500 20SU0500

LEGACY II (BD) 
LEGACY II Estate (BG)

01 / 1994  -  03 / 1999

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85 

th:MM14x1.5 RHT L:292mm 



SUBARU
LEGACY

-

LEGACY III (BE)
LEGACY III Estate (BH)

04 / 1999  -  08 / 2003

11

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

10SU050010SU0500

LEGACY IV (BL) 
LEGACY IV Estate (BP)

09 / 2003 -->

11

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

10SU050010SU0500

LEGACY V (BM) 
LEGACY V Estate (BR)

09 / 2009 -->

11

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint

10SU050010SU0500

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85



SUBARU
LEONE

-

-
-

32

1

17SU02

10SU0110SU01

17SU01

LEONE I (AB) 
LEONE I Estate 
LEONE I Hatchback

03 / 1979  -  10 / 1984

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

7210-67000 

7313-20010 

7313-20000

Ball Joint 

Tie Rod End 

Tie Rod End

th:M12x1.25 RHT  cp:1/6 cs:Ø13,7 do:Ø35 

c:Ø13 th:FM14x1,5 RHT 

c:Ø13 th:FM14x1,5 RHT 

10SU01 

17SU01 

17SU02

32

1

17SU04

10SU0110SU01

17SU03

LEONE II 
LEONE II Estate

11 / 1984 - 02 / 1992

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

7210-67000 

31320-GA101 

31320-GA111

Ball Joint 

Tie Rod End 

Tie Rod End

10SU01 

17SU03 

17SU04

th:M12x1.25 RHT  cp:1/6 cs:Ø13,7 do:Ø35 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 



SUBARU
OUTBACK

XT

32

1

17SU04

10SU0110SU01

17SU03

XT Coupe (XT) 11 / 1984 - 12 / 1990

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

7210-67000 

31320-GA101 

31320-GA111

Ball Joint 

Tie Rod End 

Tie Rod End

10SU01 

17SU03 

17SU04

-

-
-

OUTBACK (BE, BH) 10 / 2000  -  08 / 2003

OUTBACK (BL, BP) 11 / 2003  -  09 / 2009

11

10SU050010SU0500

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
21067 GA050 

31310-GA152 

Ball Joint 

Axial Joint 

th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85 

th:MM14x1.5 RHT L:292mm 

th:M12x1.25 RHT  cp:1/6 cs:Ø13,7 do:Ø35 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

10SU0500 

20SU0500

20SU0500 20SU0500

11

10SU050010SU0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 21067 GA05010SU0500 Ball Joint th:M12x1.5 RHT  cp:1/6 cs:Ø15,5 do:Ø37,85


